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B o [ 6-10 79-96 8.7 =
AHEE (mg) 100 <20 <20 s
B4 E  (mg/) 10 <1 <1 E
BG4 8 (mg/) 2000 340 - 1543 680 s
WAL & E (meg/l) 10 <0.5-1.6 0.7 yass
SR (mgh) 0.1 <0.04 <0.04 s
BOFERSEE (mg/) 100 <15-21 15.4 yass
HAE  (me/)) 20 <15 <15 E
MEEE (mg)) 0.5 <0.3 <0.3 p=s
Ber R E (me/) 1 <0.6 <0.6 p=s
FHEVE MR (mg/) 15 <3 <3 p=s
FHBEE (ng)) 200 54-120 79.8 s
HE (O 43 20-27 24 s
YA BEHRR | BEREMDT [BEHEMT =
FHEEB -

- (mg/l) 2 <04 <0.4 =
1 (mg/) 5 <1 <1 =
% (mg/) 0.1 <0.1 <0.1 =
#& (mg/) 1 <0.3 <0.3 =
1 (me/l) 2 <0.5 <0.5 =
#5 (mg/) 2 <1 <1 =
B (mg/) 5 <0.2 <0.2 =
S (mgh) 0.05 <0.05 <0.05 s
#2 (mg/l) 2 <1-17 1.3 =
R (mg/) 2 <04 <0.4 =
¥ (mg/) 5 <1 <1 pss
FE (mg/l) 2 <1 <1 =
BHEEBHEEHS (ng 10 <10-7.6 7.3 =
B (mg/) 5 <1-33 1.4 s
#%  (mg/) 10 <2 ) =
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=¥
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR (mgl) 0.01 <0.01 <0.01 =
Sl A =
/I
KEE (mg/) 0.1 <0.1 <0.1 =
HEREELEY -
LLI-Z& 2% =
(mg/l) 0.05 <0.05 <0.05
% G
S EB AR =
(mg/l) 0.003 <0.003 <0.003
ET S
B BB & =
(pe/l) 10000 <10000 <10000
#%-226 (pc/l) 30 <30 <30 =
#5-90 (pe/l) 100 <100 <100 =
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ik (mg/m’) 75
AKRBALEY
(LB RS ®tHE)
(mg/m’) 100
wmEEALEY
(LEtafaEitH)
(mg/m’) 25
Eﬁ r_ ( J’/L YIL E + Eﬁ )
(mg/m ) 100

EAEW (mg/m’) 750
Bz (mg/m’) 38
W 48 & (DL BE G &)
(mg/m’) 7.5
#HALE (mg/m) 7.5
EAEE (mg/m)) 7.5
EHEEBGE—H) .
K (mg/m’) 3
#% (mg/m’) 3
# (mg/m’) 3
BEHEEBCGE ).
$Y (mg/m”) 10
1 (mg/m’) 10
fifl (mg/m’) 10
8 (mg/m’) 10
#% (mg/m’) 10
E—KE_EHAEES
J& 44 & (mg/m’) 10
TEEH (ng/m)) 0.1
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g —uh 5y
% i [ (7K) 8 (5% & PR

&) 11.4-12.7 12.5 =
BB E e (%) |30 (RIEFR

J€) 49 - 90 64.9 &
FESE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 0.02 p=s
$EAEE (ppm) 10 <0.5 <0.5 =
7  (ppm) <0.5-6.5 2.9
##  (ppm) <0.5 <0.5
#H  (ppm) <1-73 1.4
#%  (ppm) <0.5-3.4 0.9
ST S5 I = < ]
HWE (ppm) 25 <Q5-12 5.8 =
% (ppm) 20 <1 <1 E
WAEY) (ppm) 10 <5 <5 T
A E (ppm) 10 <1-58 1.9 =
FALY (ppm) 5 <5 <5 =
g E 4y
HEEEAEEY S
&= (ppm) 5000 <15 <15 ps
EHENEEE
(ppm) 10 <5 <5 =
21X # &
(ppm) 2 <2 <2 =
% @A (ppm) 1 <1 <1 =
TCDD (ITEF %)
(ppb) 1 <1 <1 =




